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Please make sure that the printed pages in this question paper are 8 in number and
it contains 30 questions.
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The Code No. on the right side of the question paper should be written by the
candidate on the front page of the answer-book.
o FYF J9T H TV [TGT Y& V7§ Yeer, 9T H B AT [7E]
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Iarf &

All questions are compulsory.
(i) HE% F97 % 7% FqH T [T T 8

Marks are indicated against each question.

(iii) STY% TAT HEIJAIT &7 FET

Your answer should be according to marks.

1. DBMS & @ g &+l &1 ¢ ? 5
What are advantages and disadvantages of DBMS ?
AYAT

OR

Select SQL FHig HT a0 dfed auie Hil

Explain Select SQL command with an example.
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2. TRWH 1 8 ? THRWH 28T B S @ ¢ ¢ PR SRS tRed W AK ey 5

What is an exception ? What is need of exception handling ? Write note on user

defined exception.
AYAT
OR
W M2 ! WH W YN AR U9 F G ford

What is stack ? Write program for Push and Pop operation on stack.

3. SDLC & =R &l a°F &Il 5
Explain stages of SDLC.
AYAT
OR
TeHe S REd & o B

Explain management information system.

4. HFAER SONERT S TET 8 7 3
What is need of software engineering ?
AYAT
OR
M S Fitedar® W A iR

Write note on program and software.

5. Hicierzy Hiesd WX Ale [Wraq 3

Write note on prototype model.
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11.

12.
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e

OR
STETHAT ST BT 97 Hew & ? o Bl

Explain why requirement engineering is important ?

=% dfeg T W e R

Write note on black box testing.

IOT oiR 8% IR WX e fafau

Write note on IOT and its applications.

. A% I B qUN HR

Explain blockchain.

fefsreet e gefiie &1 avi #

Explain digital carbon footprints.

SQL & "Order By" &Sl &1 & ?

What is "Order By" clause in SQL ?
AYAT
OR

SIed @hHHT 4 8 7

What is database schema ?

SIeay & Ufkiehe & € 7

What are applications of database ?

TEe H BEd AHigd W e g

Write note on file modes in Python.
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14.

15.

16.

17.

18.

19.

20.
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AYAT
OR

S USS g F § 7

What is double ended queue ?

afha & § g J -8 B T S © 7

What factors affect active listening ?

qRoT S T B T w o

Explain ways to become result oriented.

TEORIR B H9-4 F™ T S 8 ?

What functions are performed by entrepreneur ?

TIZRIRIEEhe STETe™ ST &l ... THR & TFE § GOl o

Hierarchical database arranges data in .............. like structure.

SIee STeT & §fed T8 o

A database is an organized collection of data.
............ O By % AN & qaT A B

............... sensor detects the rotation of hand.
.............. PR RREH #1 o9 H q9g AR aE Far 2l

............. function returns the current date and time of system.
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In Python, ............ method is used to put object at a particular position in file.
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22.

23.

24.

25.

26.
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S HAEE U U HiSgW GRS e e o TS 3T Bl 1
................ exception is raised when the requested module definition is not
found
.............. R | amzey @ ofidRe TR Tdr &l 8l 1
In.cooooieni. testing, internal structure of item is known.
GERG I CURCS I KRB S AU ([ T AR Fed ol 1
When a number of cells is selected, it is called ............. .
Calc § BEd 69 B Bl SERE TFCTT ..o 2l 1
In Calc, default extension to save a fileis ............... .
T S AT ... 99 1 I T 2B 1
() F (B) =
(©) & D) &
A direct object answers the question .......... .
(A) Why (B) What
(C) Where (D) How
ST W A frm fore A1 2 1
(A) 10 B) 12
(C) 14 (D) 15



(7)

There are .............. punctuation marks in English.

(A) 10 (B) 12

) 14 (D) 15
27. VF oo, Frem @ omeia &

(A) LIFO (B) FIFO

(C) LILO (D) 1§ T

Stack is based on .............. principle.

(A) LIFO (B) FIFO

(C) LILO (D) None
28. ... T% DDL IS 3

() Fw (B) R

(©) eruse (D) 3

.............. is a DDL command.

(A) Insert (B) Select

(C) Update (D) Drop
29. % Royd # Ufieged &l e ............ FEdTN 2

(A) T (B) et

(C) fedit (D) WIS
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The number of attributes in a relation is called .............. .

(A) Tuple (B) Cardinality
(C) Degree (D) Field

% Ree o0 H FE@ .o Feardl ol

() fei (B) Sl
©) Wi (D) S

The number of tuples in a relation is called ............ .
(A) Degree (B) Cardinality
(C) Field (D) Domain
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